PROFI1BUS —

PROFIBUS Specification—Normative Parts
Part4: Data Link Layer Protocol Specification
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PROFIBUS

NS

FDL

Idle Time

TS
4.1.1.2
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FDL
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1).

2).

3).

4).
4.1.1
4.1.1.1

4.6.4
TS<NS<PS PS<TS<NS PS<TS<NS NS<PS<TS
4 6 9
1 3 5 7 10
TS PS NS
1.
TS LAS PS

PS

“ Listen_Token” 4.1.5 LAS

LAS
PS
PS
LAS PS.
GAP GAPL 4.1.1.2
NS
4.1.5 “ Pass_Token”
4.1.7
NS

“ Active_ldle” 4.1.5



NS

LAS
NS
4.1.1.2
TS NS
GAP GAP GAPL HSA
Set/Read Value FDL 127 GAP
GAP Tow
GAP “ Request FDL
Status” 3a Db7=1 code-No 9 Format 4.6.1A
4.1.1.4
GAP
GAP GAP
GAP HSA  GAP HSA 0
HSA 0
“ o ” 3a b7 0 Code-No 0 no SC Fig.18
GAPL “ ”
GAP  GAPL NS
LAS “ Listen_Token”
GAP GAPL NS
“ ” GAP
LAS NS ! " (Jumped over)
“ Listen_Token”
LAS PS “ Request FDL Status”
GAPL “ Request FDL Status” GAPL
4.1.1.3
LAS  GAPL “ Listen_Token”
PON time_out Tro 4.1.7

“ Claim_Tiken” “ take It”



PROFIBUS
DA=SA=TS NS LAS

“ Request FDL Status”

GAPL  * " LAS NS
GAP NS
LAS  GAPL
NS
4.1.1.4

Token Rotation time

T Real Rotation

Time) Ter
T
FDL 4
Ter T
Tre
high Twe T
7 APP
4.1.3.1
DATA_UNIT <20 4.5
4.2 21 22
Tw" 4.1.7
min Tw=na- Twthigh Tie +K-  low Twetmt - RET Tic 1
na
k
Tre
Tuc 4.2.2
mt



RET Tic

4.1.1.5
FDL
3 ” FDL

TRR

T Tw
Tw=Tmw=Trr
T Twe
T
4.1.2

FDL
4.1.3
Polling
“ Send and Request Data Low” 3a
FDL

non_operational

Operational

GAP

T

Poll List

FDL

T
NS



GAP

GAPL 41.1.2
4.2
4.1.4 FDL
FMA 172 FDL
“ Request FDL Status” 3a b7=1 Code-No
9 FDL DA=0 126 4.7.2
LAS 3a b7=0 Code-NoO
no SC LAS 4.7.3
1.

1 3 2n+i

2 K  FDL DA

3 FDL K

4 k+1 DA

5 FDL k+1

| n DA

i+l FDL n

K n< 127;i< 254

4.1.5 FDL

FDL FDL 10 FDL

2. 0 9 0O 10 FDL

Offline

FMS 1/2 “ Reset FDL” 5.2.3.1

“ Offline”
FDL “ offline” 41.6



FDL

Passive ldle
FDL “ Passive_ldle”
FDL
4.7.2
FMA 1/2 ‘* Reset FDL”
FDL “ offling”
Listen_Token
FDL
“ Listen_Token”
FDL
LAS FDL “ Listen_Token”
PS “ Request FDL Status” “
” “ Active_ldle”
LAS “ Request FDL Status” “ "
“ Listen_Token”
FDL SA
FDL * offline”
FMA 1/2
Tro Time_out FDL FDL
FDL
Active_ldle
“ List_Token” FDL “ Active_ldle”
“ Use_Token” “ Listen_Token”
SA=TS “ Listen_Token”
FDL “ Listen_Token”
Out_of_ring FMA1/2
FDL time_out
FDL (* Claim_Token” )
Claim_Token
“ Active_ldle” FDL * Claim_Token” Tro
“ Listen_Token” “ claim_Token”
LAS  GAPL “ Use_Token”
FDL NS=TS
“ Pass_Token" LAS

“ Await_Status_Respones’

GAPL NS

“ Request FDL Status’



Use Token

FDL “ Use_Token”
T
TRR TTR
FDL “ Await_Data Response”
4.4 “ Use_Token”
“ Use Token”
FDL “ Check_Access Time”
Await_Data Response
FDL FDL
SDN
FDL “ Use_Token”
a)
b)
c) FCS
Slip Slot time 4.1.7
FDL “ Use_Token”
FDL “ Active_ldle”
FDL
FDL
Check _Access Time
TTR'TRR
FDL “ Use Token” FDL
Pass Token
* Pass_Token” FDL
FDL
FDL
“ offline” FMA 1/2
FDL

“

FDL

FDL

Use Token”

Pass Token”

NS

10



“ Pass Token”

FDL “ Check _Token_Pass”
NS ,FDL
‘* Listen_Token” FMA 1/2
GAP Tm
FDL GAP
“ Request FDL Status” “ Await_Status_ Response”
FDL
GAPL
GAP FDL
‘ Check_Token Pass’ FDL
* Use_Token”
Check_Token_Pass
“ Check_Token_Pass” FDL
FDL FDL
“ Active_ldle” FDL
FDL
“ Active_ldle”
FDL FDL
4111
Await_Satus Response
GAP FDL “ Pass_Token”
FDL
“ Pass_Token”
FDL
“ Active_ldle”
Claim_Tok
PON 3
| DA | l 3
Off Li_To A_ldle Use_Token
o] 1 2 <] 4
f— ‘ )
P_ldle Await ‘ ‘ Check ‘

FDL

11



5.2.3
“ Listen_Token”

PON Poweron/Reset FDL
0 offline 5 Await_Data_Respones
1 Listen_Token 6 Check Access Time
2 Active_ldle 7 Pass_Token
3 Claim_Token 8 Check_Token Pass
4 Use Token 9 Await_Status_Response
10 Passive ldle
2. FDL
4.1.6 FDL
PON FDL “ offline”
FDL
FDL
FDL FDL “ offline” “ Passive_ldle”
FMA 172
2.
1 TS
2 kbit/s

12



o O AW

)
8%)
9*)
10%)
11%) | GAP
12%)
13%)
14%)

TSL

TSET

min Tsr

Max Tsor
Tour

Tw

HSA
max_retry_limit

)

4.1.7

T bit
Bit Time tar
1

tar=1 bit/s

(Syn Time)Tsw
TSYN

Tsw=33 bit
(Syn Interval Time)Tsm

Tswi=2x%

TSYNI

tBIT.

idle idle=

2x 33 bit+255% 11 bit +33 bit=11385 bit
(Station Delay Time)Tex

TSDR

1).

Tspi = tspiltair

2).

min TSDR =min tSDR/tBIT

4

tBIT

13



3).

max TSDR = max tSDR/tBIT

NRzZ
Toor Tou
Toui Taui
TQU| < min TSDR
(Ready Time)Try
Trov
Trpy < min Tsx
Teor
NRZ
Toui < Troy
Troy  Tsor
(Safety Margin) T
Tsu
T = 2 bit + 2% Tser + Tou 11
Teer (set_up)
Tser = teer/ tarr (12)
(ldle Time)To
T
idle ‘1
Tsm
3. 4 b C)
+Ack/Res/Token
Send/Req./Token
. Tioi
t — — — = ___= > e = = =7+
a) +-:-1> ——>o___.3 >
min Tspr<Tgp < (TSYN +TSM)
or b)

> ——>

(Tsyn + Tsu) <min Tspr<Tsp

10
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D e
+ 1> o>
3. T|D
min Tspr
TSET min TSDR
SDN
SDN Tip2 Send/Req./Token
t= = = =t -cmmmeee -8 Ste = = =t
\\‘ a) F - > ______ > “ s : > \‘
\ maX Tspr< (Tsyn + Tsm) '\‘
voooorb) 4 -----3 >i———D> \
\ (Tsyn + Tsm)<max Tspr v
\ a) max Tspr .
+=‘= =+_ _____ > > e = = ="'+
or b) max Tspr
Tip2= max (Tsyn + Tow,Max Tepr)”
14
*)
4. Tip2
(Transmission Delay Time)T1p
Trp=trpltaiT 15
bit
Slot Time T
Ts
451 UART 1 UC=11 hits

15

Troy



Ta

5 Ta1
Tsi2
+ _______________________ >
+_T0_ken_+ +_1U_C_ — — +
_— = = ‘\_ _____ > , = _ ==
E /!
Tiro Tro
+= = = + _____ > +'I _t= = = =t
max Tsp1 Send/Req./Token
Too== 2 X T + max Tipp+11 bi t+Tsu
17
6. TS|_2
Ts =max (Tsi1, Tso)” 18
*)
Time_out Tro
Tto PON
“ Listen_Token” “ Passive Idli”
Tro
Tro=6% Tg +2%x nx Tg 19
n= 0 126

n=130

16



GAP (GAP Update Time)Tew

GAP Teup GAP GAPL

Teup

GAP Trr

Teup = Gx T1r 1< G < 100 20

Ttr 4114
4.2
42.1 (Token Cycle Time)

TC
na TTC TTF
T Tip Tip Tso Tsyn  Trc
K K ... ,
Tre T:' ID
T |
K+1 Lo K+l |,
( Send Req) N
Trc
Crmmmmmm D>
Trc=TretTrotTip 21
7.
Tre UC UART 11
451 33
5 Tip
Tepi Tsyn  Tsm Tspi
Tio TsyntTsu 417 <100 kbit/s
4.2.2 (Message Cycle Time)
MC
Tsor

GAP

17



TID

Tspi

4.1.7 TSYN +Ts|v| > TSD| TlD TSYN +TSM

Tumc=Tar+ Toor+ Tar+ Tin+ 2% T1p

8.
<100 kbit/s
Tsr Tar uc
Tgr=ax 11bit a uc
Tar=bx 11 bit b uc
a=6
Tgr=6x 11 =66 Bit
5 8 DATA_UNIT b=59
Tar=59% 11=649 bit
4.2.3 (System Reaction Times)
Rsvs
Rsvys=1/tuc tuc  Tmc tair
n
Tsr
Tsr=npx Tyc+ mpx RET Tyc
np
mp
RET Tic

Tw = T 4.1.1.4
4.3

->| Ack. Response |-

Send Req.

22
23
Tsr
24
(25)
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4.7.3,FCB “ "o
4.4
Rotation Timer Idle Timer Slot
Timer Time_Out Timer Syn Interval Timer
GAP Update Timer
TTR
T
T Tre Tr=Tm Tre<Tr
13 1"
TSYN
TIDl
T 4.1.7
113 0'”
TSL TSL
Ts 4.1.7
FMS 172 4.2.3.3
TSYNI
Tow idle= “o1” T 4.1.7
TSYN
3 OH (Stuck at {3 OH ) " OH
/f 1 FMA 172 4.2.3.3

19



GAP GAP GAP
4.1.1.2
T 4.1.7
* Listen_Token” Tsw Tro
Tsm “ Passive_ldle”
TTO TSYNI
FDL
Frame_Sent_Count SDN FDL
Retry_Count
SD_Count
SD_error_Count
“ Listen_Token” “ Passive_ldle”
5.2.3.2 FDL §
FMA 1/2 FMA 1/2 4.2
4.5
451 UART
UART UART uc
1 2 3 4 5 6 7 8 9 10 11
2’ 2’
LSB MSB
Ob1b2b3b4b5b6b7b8p1‘
SP
ST T (SP)
even
9. UART
UART ISO 1177 1S0O 2022.
UART 11 ST “0 8
I 13 OH 13 1‘” P 13 O‘” 13 1‘”
$ 13 1”
4.5.2
‘ 1!1 “ OH
3 0"

20



UART

“ Ou

4.6

4.6.1

A).

/1

UART

i“ 1!1

+ 0.3%

SYN| SD1
/1

DA

FCS

ED

B).

0).

SR A

SD1 | DA

FC FCS

ED

SYN

DA

FC
FCS

-

UART

UART
DA,SA FCS

33
10H

16H

E5H

10.

33

“ 1!!

L=3

SYN

4.1.1

Hd

4

4.8
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SC SD1 SD2 SD3 46.2. 4.6.3 Hd=4
|[EC 870-5-1 SC Hd=4
SC
SC
33, b7=0,.Code-No 9
4.6.2
A).
1/
SYN | SD3 DA | SA FC DATA _UNIT| FCS ED
1/
L
B).
SD3 | DA SA FC DATA_UNIT FCS ED
L
SYN 33
SD3 A2H
DA
SA
FC
DATA_UNIT L-3 8
FCS
ED 16H
L L=11
11.
46.1
4.6.3
Hd=4
A).
{1 !/
SYN| SD2[ LE | LEr | SD2| DA | SA |FC |DATA UNIT| FCS (ED
// //




B).

11/

SD2 | LE |LEr | SD2 | DA | SA| FC | DATA_UNIT

FCS

ED

4.6.4

> w0 N PR

11/

SYN 33

SD2 68H

LE 4 249

LEr

DA

SA

FC

DATA_UNIT L-3 246
FCS

ED 16H

L L=4

12.

46.1

4 LE LEr
FCS FCS LE

17
SD4 DA SA

SYN

DA

33
DCH

13.

" 1”
33
UART

UART even
DA/SA

249

DA
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4.7

4.71 LE,LEr
DA,SA,FC  DATA_UNIT 4 249 DATA_UNIT
475 246 4
DA,SA,FC 255
b8 bl
2’ | 2°
L
L=4 249
14.
4.7.2 DA/SA
DA
SA
b8 bl
EXT | 2° ‘ ‘ 2°
DA=0 127 SA=0 126
15.
127 bl b7 1
SDN
127 0 126
32 127
126
SA
DA
EXT
DATA_UNIT EXT DAE,SAE
DATA_UNIT FC LSAP 4722
EXT
17 b8

EXT=0 DATA_UNIT
EXT=1 DATA_UNIT

EXT=1

24



EXT=0

[
DA| SA| FC | DAE
DATA_UNIT
EXT=0
EXT=1
1/
DA| SA| FC | SAE
11/
DATA_UNIT-
EXT=1
EXT=1
/]
DA| SA| FC | DAE| SAE
/]
DATA UNIT
16. DAE/SAE
b8 b7 b6 bl
EXT |Type | 2° 2°
b7
0 6 LSAP DAE=0 63 SAE=0 62
1 6
b8 EXT
0
1
b7=1,b8=1
b7=0b8=0 LSAP
17.
4.7.2.1
TS
DA[b8=0] DAE[b7=0] DA
DAE[b7=1] DA  DAE
TS
4.7.2.2 LSAP

FDL FDL
LSAP LSAP



LSAP
LSAP

DSAP
“ a)Nn

Default LSAP
DAE
4.1
4.7.3

b8

SAE

63 DAED1

LSAP

b7

DAE  SAE SSAP
DSAP
0 62

DSAP

DAE
b6=1
4
LSAP

SSAP DSAP

LSAP  FDL FDL

NIL
FC

b6 b5 b4 bl

Res

Frame

FCB FCV

20
Function

23

Stn-Type

Res:
Frame

b7=1
FCB
FCV

0 FCB
1 FCB

b7=0
Stn-Type
b6 b5

0 0

0 1

1 0

1 1
Function

0/1

FDL

3a.

18. FC

3a.

FDL
FDL
63
“ SDA”

LSAP

FDL

b7=1

0.1.2

4.6.2/3A

26



5
6
7
8
9 FDL 4.6.1A
10.11
12 4.6.1/2/3A
13
14 4.6.1A
15 LSAP CodeNo14 1SFMA L2 | 461 /3p
b7=0
0 OK | 4.6.1.B*)
1 FDL/FMA 1/2 UE 46.1.B
2 FDL RR | ...
3 RS | ...
4 7
8 FDL/FMA 1/2
OK bL 46.2B,4.6.3B
9 FDL/FMA 1/2 OK 4.6.1B*)
NR
10 FDL
OK DH | 46.2B,46.3B
11
12 FDL RDL | 4.6.2B, 4.6.3B
13 FDL RDH | 4.6.2B, 4.6.3B
14,15
b4 bl
=0 0 0 O
15=1 1 1 1
() L/M_Status 4 1 3 4 2 3
*) SC=E5H FDL SC
FCB b6 responder initiator
“ " SDN “ FDL " mo
LSAP ”
FCB
“ ! FCB
FCV=0 FCB=1
FCB=1 SA SAE [b7=1]
3b
DAE[b7=1] SAE[b7=]] SAE[b7=1] SA

27



FCv=1

FCB FCv=1 FCB
SA SAE[b7=1] FCB
SA
SAE[b7=1] FCB FCB
SAE[b7=1]
FCB
FCv=1
SA SAE[b7=1] FCB
SA DA SAE[b7=1] DAE[b7=1]
Hd4-faultless SDN
FDL LSAP
FCV  FCB 0 FCB
3b. FCB FCV
b6 b5

FCB FCV

28



0 0 DA=TS/127
FDL
LSAP-
01 01 DA% TS
1 0 DA=TS FCBM=1
SAM=SA*)
o1 1 DA=TS
SA=5AM FCBM =FCB
FCB# FCBM
o1 1 DA=TS FCBM=FCB
SA=SAM
FCB=FCBM
DA=TS FCBM =FCB
o1 1 SAZ SAM SAM  =SA¥)
FCBM FCB
SAM SA
4.7.4 FCS
4 FCS
b8 bl
2’ 2°
19. FCS
46.1 DA SA
46.2 463
DATA_UNIT
4.7.5 DATA_UNIT
FDL/FMA 1/2

4.7.2

246

FC

29



4.1

DATA_UNIT
{ 1/
FC DAE/SAE
/1l 1/
20.
LSAP " 4.2
Ident_List Vendor_name PROFIBUS
Controller_type Hw/Sw_release 200
/1
LE VN LE CT LE HR LE_SR Vendor_name
11/
{|—>/ ]
/1
Controller_type HW _release SW_release
/1
/Il

LE VN LECT LEHR LE SR

19
Vendor_name VN
ASCII IS0 7 b8=0
Controller_type CT

ASCII ISO7 b8=0
Hw_rebease HR
ASCII ISO 7 b8=0
SW release SR
ASCII ISO 7 b8=0
21.

LSAP
LSAP

30



b8

b5 b4

bl

Access

Address-Extension

Role in_service

Service type

6 Role in_service

Service _type

AcCCess:

b8 bl <---

01111111=All

EXT 0000000)
to

EXT 1111110)

EXT=0:

EXT=1

Address Extension:

b8=0,b7=1, b1 to b6:
(Significance:see Fig.17)

Service_type:
b4 bl <---
0000
0001
0011
0101

Rolc in_service:
b8 b5 <---
0000
0001
0010
0011

126

/

Service typeSRD  CSRD

4.8

FDL

(SDA)
(SDN)
(SRD)

(CSRD)

Role in_servic

22.LSAP

SYN SD1

DA

SA FCS

ED

E5H

ACK

31



SD1 DA | SA FC FCS | ED
SD3 | DA SA FC DATA_UNIT | FCS | ED
I/
SD2| LE | LEr| SD2 DA SA | FC DATA_UNI FCS ED
1/
23.
1/
SYN SD4 DA SA

32



SYN| sD3 | DA A FC DATA_UNIT | Fcs | ED
/1
SC ESH
SD1 |DA |SA |FC |FCS |ED
sD2 DA [SA  FC  DATALUNIT [Fcs D
/1
SD2 LE LEr | SD2 DA | sA FC DATA_UNIT | FC ED
11/
/1
|igY|\| SD4 DA SA
/1
24,
DA | SA Fc | patA UNIT| Fcq ED

|Z/ SYN | LE | LEr| SD2

1/

SC ETH

33



SD1

DA

FC

FCS |ED

DS3

DA

FC

DATA_UNIT

FCS

ED

25.




